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Business Environment


Time : 2 Hours        [Maximum Marks : 70

Note : This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein. Candidates should limit their

answers to the questions on the given answer sheet.

No additional (B) answer sheet will be issued.

            

         





       
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Section–A / 

(Long Answer Type Questions) /    

Note : Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. What is meant by business environment ? Explain the

importance of study of business.



     

2. What do you mean by monetary policy ? Narrate the

main tools of monetary policy.



   

3. What is unemployment ? Focus on main reasons for

unemployment in India.
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

 

4. Define industrial sickness. Explain the reason for in-

dustrial sickness.



    

5. Define FEMA. How does FEMA impact foreign ex-

change rates and the foreign exchange market in In-

dia ? Explain.

     



   

Section–B / 

(Short-Answer-Type Questions) /    

Note : Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

(4×8=32)
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    (08)    

      (08)   

 (04)  

 

1. NITI Ayog.

 

2. Demerits of privatization.

   
3. Deflation.


4. Functions of World Bank.

   
5. Objectives of fiscal policy.

   
6. Distinguish between balance of trade and balance of

payments.

      
7. Major exports of India.

   
8. MANREGA.


*************
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